



(طرح كسور (كسر مختلط

اسم: _____

التاريخ: _____ النتيجة _____

$$\frac{4}{8} - \frac{2}{8} =$$

$$1\frac{1}{4} - \frac{1}{8} =$$

$$\frac{2}{8} - \frac{1}{5} =$$

$$\frac{5}{7} - \frac{2}{3} =$$

$$\frac{7}{9} - \frac{3}{8} =$$

$$\frac{3}{5} - \frac{2}{9} =$$

$$1\frac{1}{4} - \frac{4}{7} =$$

$$1\frac{1}{4} - 1\frac{1}{5} =$$

$$1\frac{1}{5} - \frac{5}{7} =$$

$$2\frac{1}{3} - \frac{3}{6} =$$



اسم: _____

التاريخ: _____ النتيجة _____

$$\frac{4}{8} - \frac{2}{8} = \frac{1}{4}$$

$$1\frac{1}{4} - \frac{1}{8} = \frac{9}{8} = 1\frac{1}{8}$$

$$\frac{2}{8} - \frac{1}{5} = \frac{1}{20}$$

$$\frac{5}{7} - \frac{2}{3} = \frac{1}{21}$$

$$\frac{7}{9} - \frac{3}{8} = \frac{29}{72}$$

$$\frac{3}{5} - \frac{2}{9} = \frac{17}{45}$$

$$1\frac{1}{4} - \frac{4}{7} = \frac{19}{28}$$

$$1\frac{1}{4} - 1\frac{1}{5} = \frac{1}{20}$$

$$1\frac{1}{5} - \frac{5}{7} = \frac{17}{35}$$

$$2\frac{1}{3} - \frac{3}{6} = \frac{11}{6} = 1\frac{5}{6}$$